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F—FE RERD

1-1 BREEWMFBNRES, 20 MAEPE 8.5%
C0O,,7.5% O,,76% N,,8% HO(EF %) . iR\ E R 500T .
FE3R % 101.33 X 10°Pa B}, KB S S KBS

f# M, =Maya+ Mpyg+ Mcyc+ Mpyp
=44Xx8.5% +32X7.5% +28x76% +18x8%
=28.26kg/kmol
e = pM,/(RT)
=101.33x28.26/[8.314 X (500 +273) ]
=0.455kg/m’

1-2 ZEXSHERN101.33 X 10°Pa (3B IX , 5 B 25 g% 1L
TEZRER K 9.84 X 10°Pa, HFEKSIER 8.73 X 10*Pa K9
DX (S35 Ay 24 %ok RS SR A 5 ) 0 S0, T L 25 e B S 2407

i NG ERAERAER, M AT 540 T %

Pa —9.84%X10° = pp — p
P = P2 — pa +9.84 X 10* = 8.437 X 10*Pa

1-3 WOABKHE —ZH0.52m 7K, 3 FFHE 3.46m
Mo SRAVISAYESR , AN (Pa) R, HER B4 % FRoRiA 25
FE38? 7KHPEEBER 1000kg/nr, EEERE R 916 kg/m’,

i RIER

p(atg) = p1gh, + prgh,
= 1000 x 9.81 X 0.52 + 916 X 9.81 X 3.46
3.62 % 10°Pa



#8358
plata) = p(atg) + p,
= 3.62 x 10* + 101.33 x 10> = 1.37 X 10°Pa

1—4 il 525 ol e VB A A P RO R R, SR R A R 1
B B, Fh0E S R 4 S KB 18 SEE I MBS A
fghl, A5 U B E2HiEH R = 130mmHg 8 E BEH# K
# h = 20cm, EREE A2 R 2m, BAKRF R 980 kg/m®, BRMEHE
WIS R D7
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Py

LN
EN

381 -4 HE
1—RY R 2— BB RS ; 3—U FHEE; 4—l S8 S,
i EHRESWERE, HAREMB/N, TR B BiE58
SBEHOEEA EEEMMESE, & A MESKERARE T HE
B, Eit

b= PAp _ 13.6 x 10°
= 15.6 X 107

SR =3 98><103><130><10—3 = 1.804m

Vs %ndz(}ll + h)

% X 3.14 x 22 x (0.2 + 1.80) = 6.28m’
G= pV =9.8x10% x6.28
= 6.15 x 10°kg = 6.15t
1-5 — MO ERE B 20C B9, K19 % Bk 880kg/m’,
2



R T ARG O, MRS T — P12 500mm A9 AFL , FL DA
J& 600mm, ANFLAEATL3E , oK :

(1) AFLEEFTRHEH , A4 (N) 3 5

(2) MR T 732 1 FE 3 o

W AFLELAFL KT E T X FR, T e 3 YR B A
Ak, B AT L AL oAb O PR3 BEAFL B BT 2 R )

p = pg(H—-h) =880 x9.81x(9~-0.6) = 72515.52Pa
F = pA = 72515.52 X & X 0.5%/4 = 1.42 x 10*°N

1-6 N T HOKPRIAS R R 2 3 i
%50, SR FiI 4 A 5 B R T ) A o PR 22 d 5
W, — R, — 5KV 20 M, B .,
U A48 PO B BE 2 804kg/m® ) 95% Z, L— =
By W, SREH R N 29mm B i S 16 W
W,

i Ap = pgRsin20°

= 804 % 9.81 X 29 x 1073 X sin20°
= 78.23Pa

1-7 R U B EZER lpz V)'
RS ER , W8 R = 320mm, BT ,, g,,lzgwkw
BN/ R, Bl /N RO T
4 amm BB, WRERMEZNES | |5
W (Pa) o R 20 TG /N2 1A OV
TR, 274 B0 iREr WRk®E A V 4

Eﬁ%z:@WE o p2=1000kg/m3
R MABHERR A-ABEN
T BT 17 WE

P2+ p1gAh + p28R = py + p1gR
Ap= py— p» = (02— p1)gR + p1gAh



= (1000 — 910) % 9.81 x 0.32 + 910 X 9.81 x 0.004
= 282.528 + 35.708 = 318.236Pa

RSP/ N R TE B2 , T 2%

Ap=p1— p2 = (02— p1)gR
= (1000 — 910)x 9.81 x 0.32 = 282.528Pa
FH2 35.708Pa
R (318.236 — 282.528) /318.236 = 11.22%

1-8 5 THEBRESE R BBUK , B0 A S50 I o 19
IKEBA, KRS R T ERESERRK 1 X
10°Pa(4i5 3R ) o [RKBHEHE AWK F RORE A B AET? %4
WRSER p,=9.8X10*Pa, KEIHE p=1000kg/m>,

f p=pgh+p,
Btk b =(p—p.)/0g
=(1x10°-9.8x10*)/9.81 X 1000 =0.204m

19 U7 REBH PR BT 78 0 00026 0 [ 3 2 8 o, oy B T
HIFSER BB, BB W EI Y BB BN E
B p1=1.04xX10°Pa(4JE) , TR SUEHR p, = 1.08 X 105Pa(%s
E)ﬁﬁ?@&&%ﬁ*iﬁ%ﬁ&ﬂ@iﬂi&ﬁ@%wlﬁlmﬁ%ﬁﬁﬁé')%
EEIERBASE AL tH 22707 BB 810 kg/m®,

fi# # BV BERS POR R BB AL K 1, R 8 B R T
DEIEFRAEL S A, 0

p1t+ pgh = p,



A h= (p2 — p1)/pg
= (1.08 X 10° — 1.04 x 10°)/9.81 x 810 = 0.503m

Py

R 1-9 B
IR s 2— R uER.

1-10 yWRSHEFIER pp, R F AN A R B BT R B9 30
BARABEET . PIARFHA BN o) WK, U S FHER
BEERN 00 BEESWHERZI d/D, iR

a

iE: T
d? &
PB=Pa—hg(P2—pl)—hgp1§
Py

i FEEN1-18EH, %R | » r
GIE:! =)

PBt p18Ah + p2gh = pigh + p, P,

= p.+ - h — p1gAh
b= p (o1 02)g P18 ST 1 - 10 B
2}
AhwD?*/4 = hrd?/4
CIp LS
Ah = h(d/D)?
FrLA

dZ
PB= pa—hg(p2—p1)- hgpy 13



1-11 FIEHRBOE RS 121 R $25mm x5
2.5mm B4R (WAERTE ) , 2 S 9m/s B
HEEIENF S EREENETFHREN ot
50T, FE# 2 196 X 10°Pa(EFE), k< Ex | [l
98.7 X 10°Pa, &K :

(1) E5MEERE;

(2) BARAAF T 22 B

(3) B Q) WHBLZERBENRERS TSR PARRELS

HEFR &
HE: $25mm X 2. 5mm NEIMEHR 25mm, BEJE
4 2.5mm, H4&2H 20mm, I 1 - 11 HE
iR BEXGTESHERRE 1—FEk; 2— Tt 5
3—EH 4T

V= uA = 9 x0.785 X
(0.025 — 0.0025 x 121)? x 121
= 0.3419m’/s
ZRMERE

5"“&%}1‘&&5 m] o

ws = Vo

BAERMF T EZRNEE

_ MTep _ 29 273 x(196+98.7) x 10°
P=22.4Tp, 22.4 323 x 101.325 x 10°

= 3.182kg/m’

BT LA
w, = 0.3419 x 3.182 = 1.088kg/s
T
pVs _ Ve
T To
WERS T EREREE
_ PTo., _ (196 +98.7)x 10° x 273 B 3
Vo= o Ve = 0l an 10 x 323 X 0-342 = 0.84m’/s

1-12 WA B 7R , o A8 P B 7K T 785 T 7T 8, ZK A
6



$108mm X 4mm {4 % B o i, B B O T 2me FEAH
KRG RGEMEERBIR AT he=6.54 THE, HP o RHKTE
HNEWE, K E

(1) A— A BRI 7K FO L 5

(2) H ORI R, L m’/h it

1,

1
!
—————

8m

A-4t+-A4

1 - 12 MHE

fiF TERACAEKE (1 -1 8 ) MR 0 (2 -2 Bil) A
B 7 AR, b 1A A A
ng+%+z§ Zz+—+u%+Zh{
A Z,=8m, Z,=2m ,Pl—O(iﬂz) 2= 0(%&) u =0 ,

> hi=6.5u3
BRERA B, HEE
uy= 2.9m/s
Q= uA
=2.9%0.785 % (108 — 2 x 4)2 x 107°
= 0.023m%/s = 81.95m*/h
1-13 ZEMERES, KEERN 457mm X 3.5mm, X4
AP, B REEHR 3.04 X 10°Pa, S TH G, EHFEik
B2 2.03 X 10*Pa, BEELBRK N 0.5m. RAWFKEIET
m’/h? JKEHE p=1000kg/m’,
SRR, KRB R T AR P R I R S
7



113 fHE

A, MM IFFR G  BRER AR AL A Bh Al , BAMIERE TR 3%, 51
PR REATH X

2
% = % + % =+ th |
A p1=3.04 X 10°Pa(RIE), p,=2.03 X 10°Pa(RE), 2] he=
0.5g
Bk

b1~ P2
u= 2(———0.5 )
J2(B2 05
4 _ 4
=\/2>< (3.04>< 10* — 2.03 X 10 —O.Sg) — 3.20m/s

1000
KRN
Vo= uA = 3.22x0.785 x (0.057 — 2 X 0.0035)?
= 22.75m%/s
1-14 FEFRHRAE EHEZN 200mm, 785 WL 0 4k
8 U EZTHES R =25mm, 3R BONK, AEHE TR, &
AHEAME, KB EN 1.2kg/m’, BREBHNSSHTE,
i FEmIWUEE O A XL O AL 5G5S 0] 5 2

P2 “_ u
p+ng+2 = p+gZ2+2

J_”QEP P1=Oy 21222:0, u1=0 »
P2 =— PHZOgR =-—1000 x 9.81 x 0.025 = — 245.25Pa
8
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\J
IE1-14 HE

RAAZ TR

_ [_2pP2 _ [245.25X2 _
Uy =Al — e 1.2 = 20.22m/s

w, = Fd%up = 7 % 0.22x20.22 X 1.2 = 0.76kg/s

1-15 FELFEE 20T B7K A& 1% ZK U T, A
KPLGERHEE . FEBAH AL B A E Tn . BERMERY
K $76mm X 2.5mm, FEREZGT, RAOLEE REHHN
24.66 X 10°Pa, K MEWAE H5HH B (ARFEBEL) B A K
A0 hg =24 5 hp=10u> HE., XP « HBAEHRHH
EHOWE, HEH B SmELERAE R ER R 98.07 X 10°Pa(FRHE) .
R E A BN,

23

14m

20

1

.||| 1.5m

SR 115 MHE



fif TEAEREROE (1 — 1 ) B M A KA (2 -2 #E)
FESS R T7 R, Sl I D R E T

2
g21+%+uzl—gzz 22 “2+Zhn
E:QEF‘ ZI=0m,p1=0(§EE),ul~0 Zz—l S5m, 2= —24.66 X

10°Pa(EE), > hyg=2u3
B EAERN , FH 115

)2

2.5u3=- pz - g7,

_ 24.66 X 10° Al
= =000 9.81x 1.5 =9.945

R uy=2m/s
TEREREIBTE (1 — 1 K ) R HE 8 5w Sk Ml Ak (3 - 3
T ) FASE L, i v 1 Dl B T
gZ,+%+3‘2-2-+W gZ3+—+u3+Zhﬁ+2h9_
K Z,=0m, p;=0(FE), u1~0 ,Z3=14m , p;=98.07 X
10°Pa(EIE), uz= uy=2m/s, >, hy+ 2, hp=12u3
BEERA LR, RS
W.= 14g + p3/p + 12.543
=14 x9.81 + 98.07 X 10°/9.81 + 12.5 x 22
= 285.59] /kg
wy= uAp
=2x0.785x (76 — 2% 2.5)*> X 107% x 1000 = 7.9kg/s
Ne= W,w, = 285.59 X 7.9 = 2256W
1-16 WA E BTA N 30C M7k B B A i & H R A%
HIFBE B, e HAAN 20mm, FEHEEHEAN 36mm,. A
TR BB BB P T SR B AR? KRB L RAK
IS ?
10
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0.5m

8 1-16 MHE

i FEROIERE (1 -1 8 FAS B O (3 - 3 #E) 2l
FMEB R, IS O *Ju»%ﬂmykilf-ﬁi@?ﬁﬁ

J_itq:l lelm, p1=0($E)’u1%0 ,Z3:0m ’ P3:0(§E)
BREARA LR, HmLE
uz = «/5; = 4.43m/s
SRHE % St 7 AR AT 4
uy = u3(ds/dy)* = 4.43 x (36/20)% = 14.35m/s
e VA FIALARE BB RERCK , f BEAR Kk, B IR BB B2/, JE 28
B, %A ESR K

u

2
Pr= (E —g22 - 72)()

2 2
U u
= (s v B g - ez )

_ Pa_ _u_%)

= <g+ P 0. 5 ) P
101330 14.35?
( 1000 *0-5%9.81 - 14 )x1ooo

= 3273.8Pa
11



